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SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
FE 37,143,180 31,701,110 5,442,070
F=HEE Hd 22, 681, 800 22, 647, 500 34, 300
FHEZ A 22, 681, 800 22, 647, 500 34, 300
SAFASEINEMS XA 14, 951, 800 14,917, 500 34, 300
202 Gd| 1,800 0 1,800
01 =3LHOBI 1,800 0 1,800
OSAENSY HEMe ee=z - 1,800
403 XXM SA=01 A 14, 950, 000 14, 917, 500 32, 500
01 XXSHHMIA2LEEX 14, 950, 000 14,917, 500 32, 500
OZAFHEE i AFH (52X +)
23, 000, 000, 000& *65% = 14, 950, 000
(2 11, 500, 000]
== 3, 450, 000]
SHE S8 3SXE 7,200, 000 7, 200, 000 0
501 8Xkt= 7,200, 000 7, 200, 000 0
02 s33IBINEASX2 7,200, 000 7, 200, 000 0
OsHE SHFENE 40, 000, 0002 *600=*30% = 7, 200, 000
[& 3, 600, 000]
(2 3, 600, 000]
sOHE BIEEHIAME K& 480, 000 480, 000 0
403 XXM SA=201H 480, 000 480, 000 0
01 XXSHHA2EEX 480, 000 480, 000 0
O=s0E BIdEAHEH| 2, 000, 0002 *800& *30% = 480, 000
AEQ BRI QIR X 50, 000 50, 000 0
402 QI XHE01H 50, 000 50, 000 0
01 QUAXEBEX 50, 000 50, 000 0
OAMES ERIIAMY K& 50, 000, 000& 172 &+ = 50, 000
=8 24 2 29 14, 439, 810 9,041,910 5, 397, 900
FTEIS & AIEHE 135, 310 41,910 93, 400
=8 2 XNF Hesd 135, 310 41,910 93, 400
201 2Bt29H| 19,010 17,010 2, 000
01 AtS2eldl 19,010 17,010 2, 000
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o=l = 8,610
202 48l 17,900 22,500 A4, 600
01 =LHbI 17,900 22,500 A4, 600
OFg8HE=HRFA = 17,900
203 Z R =&l 2, 400 2,400 0
03 AlIMFXHRFLZIHI 2, 400 2,400 0
OF8g2xx = 2,400
301 LEE A= 96, 000 0 96, 000
12 JIEt2 &3 96, 000 0 96, 000
OZ20tIHE Al&Z 30, 000, 000& *3M A& = 90, 000
OZ M= 2,000, 000& *3I 4 = 6, 000
AMIIES NGUSI| & ASSAY 14, 304, 500 9, 000, 000 5, 304, 500
AESEAY X2 (AZ AEX) 4,761,800 5, 035, 000 A 273,200
202 (48l 1,800 0 1, 800
01 =2LH0bI 1, 800 0 1,800
Ot ESAY HR2FT = 1,800
308 XAXHMSOIA 4,760, 000 5, 035, 000 A 275,000
01 RXSMIAEEZ 4,760, 000 5, 035, 000 A275,000
O’ AL (BAI2) = 4,760, 000
[ 4, 760, 000]
AMEEAY XAANZ H2EX) 7,140,900 3, 965, 000 3, 175,900
202 04l 900 0 900
01 =LHHYI 900 0 900
OblgsEAYg HRFH = 900
403 XX SHSA201H 7,140, 000 3, 965, 000 3, 175,000
01 XXHHA=2EX 7,140, 000 3, 965, 000 3, 175,000
OKES AL (BAI2) = 7,140, 000
(2 7,140, 000]
AJIES2 NGUSIIAY K& 1,401, 800 0 1,401, 800
202 48| 1, 800 0 1,800
01 =LHbI 1,800 0 1,800
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